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84.2600 LIS =% FAR
82.8102 JEBRTF AR FIEAR —%% FAR
81.9600x019 JERE T B REAEAR —%% FAR
83.7600x005 JEHE LR #2 A1 AR —2% FAR
82.6101 JEHEFEA AR AR —%% FAR
86.9300 HAY RIS EN —%% FAR
50.3x02 7RI R AR =% TR
45.7501 Fe 2 g AR VR M VIR AR —%% FAR




45.7500 g m IR AR —% FAR
39.2200x022 e 25U B k- A 20U ) ik ON T L FE AR AR =% FAR
38.7x00x008 Fe b ks LAR =% FAR
35.8100x006 2 I HE A B R AR =% TR
35.3400x004 A= R HIEHEAR —% FAR
35.3400x008 F S BB A A =% TR
37.3300x021 Fe B R DR E A =% FAR
36.1900x001 FEBE T shllik-22 b RS kv & AR =% FAR
37.3600x006 A H A —% FAR
37.3600x007 FELH LA =% FAR

37.3600 O EIARBIIEREA (LAA) =% FAR
37.3600x005 Fe O HAIRA =% FA
35.8200x009 ol -iEEik TV &R =% FAR
37.3300x023 FO IR ER —% FAR

37.9000 FE U PN B BN =% FAR
37.6600x001 Fe O E A R G BEAARLVADE A A] =% FA

35.9302 Fe Uy B AR-FFK I RA =% FAR

35.9301 Je R O E B EAR —% FA
35.9300x003 Jo b % -FE B K EIEB RN A =% FAR

56.7501 EARRE &R —% FAR
77.6900x058 AR E I AR B AR =% TR

77.8901 Al A VTR AR —% FAR

77.3904 A B DIEAR —%% FAR

53.9x01 A FLRE R AR —%% FAR

77.9901 Ak R VIR AR —%% A

04.0718 AR MR IR —2% FAR

04.3x15 AL E RS LEE R =% FAR
04.7500x005 A F A B E RIE B IER =% FAR
04.7600x015 AR A IEIR B RA AR —%% FAR

04.5x07 AL E R AR AEAR =% FAR
77.0900x005 AR B B IR A =% TR
78.0900x024 Al R AR —% FAR




